Y=al|x-h|+k Y=alx-h|+Kk

a:
h:
e Pos: opens u S B
o Neg: Ogens dzwn e x-h: h units right Vertex: (% l )
et : e x+h: h units left =
® a=slope of sides Y

k:
e +k: Kk units up
e - K: k units down

Write the equation of this graph:

¥ 5

Graph this equation: y=-2|x-3|+4

Vg \
\

vertex is 3 right 4 up, from the origin.

| V-shape opens down.

\ ides have a slope o =
Sides h lope of 2/1 | » - é—;\x—k(/-’z




v =2(x-12+5 5 = 2
y=-2(x-172+5 “w Yoo =3(x+4)-7
° - What will this graph look like? &
= Parabola that opens down Vertey (/\/\ =
\\ hat will the vertex be? $ L
| (1,5)
X What numbers would you use -
o in a table to find the rest of the -+ /‘2 X Ussitwe Rursers
N ' graph? X = \ T for x that are close _ 3 5
" Use two numbers z \ " to the vertex (-4)
< for x that are close =
; to the vertex (1) 3 —S / il
] Reflect these points
Line of Symmetry Reflect these points over the Line of & over the Line of > )
Symmetry to get the remaining points. ﬁ Line of Symmetry Y e et e ning points.
The posts are all 4 feet apart. Post 1 is 4 feet from the eaves. Find the ratio dL for each post. ~ Write it first as a fraction then
Rest o convert it to a decimal.
h = the height of a post l
1
d = distance from the POST d h E
eaves o
os 751 e
Post l q 1.5 L_k %7? .
6 ft = N This shows that
2 81053 h,
T ~isa
9 3| @]as|2S] 375 ,
& I:I:I = Constant Ratio
House ==} 4 (QD 6 T(; ' Sflg
) ~ /IS (3
75 [ =_|- [
5 |79 =" 51§




Section 5-5: Direct Variation Make a scatter plot of the data in the table.

h LX\. v
Direct Variation is a special Linear Function. d|h
A |4 |15
e It has a constant ratio _Y_ _ i d 7
X pe » :
k = the Variation Constant 'Y 4 | 2145
NN ) ©
: g : e
e Direct Variation Equation: 1 LA ) 75
%=k or y=kx CFEAORFeey

Graph of direct variation

e The graph must be alline|that
passes through|the origin.




